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8) MarpHIy raMHIBTOHOBBIX KOHIYPOB “F | MOTyYHM H3 TaOIHIE! 2 IyTeM

3aMeHBl wIeMeHTa (1:5) Ha 3HaK «20m.
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Hlustration 1: LibO5400 — Rendering LibO exported DOC with LibO before correcting by
double clicking formula’s
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3aMeHBbl 3eMeHTa (1:5) Ha 3HaK «oom.

]

i 1 2 3 3 g

1 o 3 14 17 o 15 3

2 J o Z L 30 g g)
3 22 0 ac 2E 14 4

4 3 { 17 o 23 C

3 i [ 17 10 oo 47

@ 37 12 ) 2 18 =

14

TlemaeM IOTIOMHHTETBHOE TPHEEISHHE MATPHITEI KOHTYpoE Q° | hl = 0. HIKHIA
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Illustration 2: LibO5400 — Rendering LibO exported DOC dfter correcting formula’s by
double clicking formula's






